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CrosswordFor Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

 Bidding Quiz
You are South in each of the following three

hands. What would you bid at the point where the
question mark appears?

1. [S] Q62 [H] 95 [D] AK83 [C] KJ74
South       West      North East
1 [D] Pass     1 [H] 1 [S]
 ?
2. [S] KQ1083 [H] KQ95 [D] K4 [C] A2
North East      South West
1 [D] Pass      2 [S] Pass
3 [D] Pass      3 [H] Pass
4 [D] Pass      ?
3. [S] AQJ95 [H] Q6 [D] AK84 [C] J2
South       West      North East
1 [S] Pass      2 [C] Pass
2 [D] Pass      2 [H] Pass
 ?

 * * *
1. Pass. Partner’s one-heart bid is 100 percent

forcing, but you are under no obligation to bid after
East intervenes with one spade. At this stage, there
is no way for you to know whether partner’s re-
sponse was based on six, 10 or even more high-card
points, nor can you tell what kind of distribution he
has.

When East enters the auction with one spade, you
are presented with an opportunity to tell partner, by
passing, that you started with minimum values and
have no clear-cut action at this point. Partner has
another bid coming after East’s overcall, so there is
no chance of his being left at the post with a good
hand.

2. Four notrump. Partner obviously has a one-
track mind — he likes diamonds. He probably has
seven of them to the A-Q-J or something similar, and
your best bid under the circumstances is to find out
how many aces he has.

Accordingly, you bid four notrump (Blackwood).
You plan to pass if partner responds five diamonds,
showing one ace; to bid six diamonds if he responds
five hearts, showing two aces; and to bid seven dia-
monds if he responds five spades, showing three
aces, even though there is a small risk that the grand
slam might fail.

3. Three notrump.
It would be wrong to bid only two notrump, since

your first two bids could have been based on only
13 or 14 high-card points. Since you have 17 points
and have not yet disclosed your extra values, you
should identify them now by jumping to three
notrump.

A two-spade bid would be incorrect on two
counts. It would understate your high-card values
and would also fail to describe your relatively bal-
anced distribution.

Try the Impossible
It is, of course, impossible to achieve the truly

impossible, but there are many seemingly hopeless
contracts that can be made by means not readily
apparent. For example, take this deal where it ap-
pears South must go down one after a spade lead and
a heart shift.

However, the outlook is not as bleak as it seems.
West’s leap to four spades was obviously based on
lots of spades, and there is consequently good rea-
son to think that East might be taxed with the bur-
den of guarding both hearts and clubs.

So South’s best plan of play — to avoid what ap-
pears to be a certain heart loser — is to exert pres-
sure on East that he cannot withstand. After winning
the heart shift with the king, declarer draws two
rounds of trumps, ruffs a spade in dummy, then
cashes two more trumps to produce this position:

North — [H] A 6   [C] K 8 7 4
West —   Immaterial
East —    [H]  Q J   [C]  J 10 9 5
South  — [H] 9 5 4   [D] 10   [C] A Q
When South leads his last trump, discarding a

heart from dummy, East finds himself in a pickle.
Whatever he discards, declarer makes the rest of the
tricks.

If he sheds a club, South cashes the A-Q of clubs
and plays a heart to dummy to score the K-8 of clubs.
If East discards a heart instead, South leads a heart
to the ace and takes the last four tricks with the A-Q
of clubs and 9-5 of hearts.

For Better or Worse • Lynn Johnston


